Division by sharing – Comparison problems

EXAMPLE:
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Worksheet
Using the same reasoning as above, solve these problems:
1. Arjun’s grandfather gives £28 to Arjun and his little brother. Arjun receives 3 times as much money as his little brother. How much money does Arjun get?

2. Arjun’s grandfather give £12 to Arjun and his little brother. Arjun receives 2 times as much money as his little brother. How much money does Arjun get?

3. At the school fair Mrs. Smith sells 4 times as much lemonade as her husband. Altogether they sell 20 litres of lemonade. How much more lemonade does Mrs. Smith sell than her husband?

Challenge:
Write 2 word problems using this model:
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Worksheet - Answers
Using the same reasoning as above, solve these problems:
1. Arjun’s grandfather gives £28 to Arjun and his little brother. Arjun receives 3 times as much money as his little brother. How much money does Arjun get?
	
	
	


Arjun
	


His brother
3+1=4
28:4=£7 (His little brother)
7x3= £21 (Arjun)


2. Arjun’s grandfather give £12 to Arjun and his little brother. Arjun receives 2 times as much money as his little brother. How much money does Arjun get?
	
	


Arjun
	


His brother
2+1=3
£12:3=£4 (his brother)
£4 x 2= £8 (Arjun)

3. At the school fair Mrs. Smith sells 4 times as much lemonade as her husband. Altogether they sell 20 litres of lemonade. How much more lemonade does Mrs. Smith sell than her husband?

	
	
	
	


Mrs. Smith
	


Mr. Smith
4+1=5
20 : 5 = 4 l (sells Mrs. Smith)
4x4= 16 l (sells Mrs. Smith)
16-4= 12 l (more sells Mrs. Smith than Mr. Smith)
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Arjun’s grandfather gives £12 to Arjun and his little brother. Arjun receives three times as much money as
his litle brother. How much money does Arjun’s grandfather give him?

Arjun has 3 times as
much money so 3 parts.

How many parts are
there altogether?

Build the bar mode!

This is Arjun’s brother’s
money. How many parts
does Arjun have?

Little brother

Arjun

|

<, His little brother has 1 part and Arjun
has 3 parts so 4 equal parts in total.

Clarify that the 4 parts are the 4 equal groups that the £12 will need to be shared into. Support pupils to
solve the problem and write the appropriate calculations and known fact. 12+ 4 =3, 4x3=12

Each group is £3
because 1.
Arjun gets £9 from his
grandfather because 3x 3=9

Ask pupils what else they can tell you about the money using the bar model. For example, how much
more money Arjun has than his litle brother, how much money Arjun's little brother receives, how much

Little brother

Arjun

I

less his little brother receives than Arjun.

Little brother What would be the same and what would be ’

different if Arjun’s grandfather gave them £287

Arjun





image2.png




